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POLYNOMIALS

Very Short Answer Type Question

1. If one root of the polynomial

f(z) = bx* 4+ 13z + k is reciprocal of the


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HFND0rNvR1sJ

other, then the value of k is

A.0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HFND0rNvR1sJ

2. If a, B are the zeros of the polynomial
flz) =2z —p(z +1) —c such that

(a+1)(B+1) =0,thenc =

Al

B.0

D. 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Yj5AcqBAdXiK

3. If one zero of the quadratic polynomial

2 + 3z + kis 2 then the value of k is

A. 10
B. —10

C.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wqXN6E86KsDO
https://dl.doubtnut.com/l/_wnqqZHq1mfTK

4. If the zeroes of the quadratic polynomial

z® + (a + 1)z + bare 2 and -3, then

Aa= —T7,b= —1
B.a =5b= —1
Ca=2,b= —6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wnqqZHq1mfTK

5. What should be added to the polynomial
> — 5z + 4 , so that 3 is the zero of the
resulting polynomial? (a) 1 (b) 2 (c) 4 (d) 5

Al

B.2

C.4

D.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5VUdLKXNtk6G

6. If a and 3 are the zeroes of the polynomial

5 1 1
x°+ax+ 1, then — + —=
a p

o Watch Video Solution

7. If a quadratic polynomial f(x) is not
factorizable into linear factors, then it has no

real zero. (True/false).

o Watch Video Solution



https://dl.doubtnut.com/l/_my3CUQJFAIko
https://dl.doubtnut.com/l/_XXOqN7uoiiij

8.1f a quadratic polynomial f(z) is a square of

a linear polynomial, then its two zeroes are

coincident. (True/false)

o Watch Video Solution

9. The product of the

23 + 4z’ +x — 6is

B. 4

Zeros

of


https://dl.doubtnut.com/l/_0O2LQPVvjN8A
https://dl.doubtnut.com/l/_st2kmb7FUIAG

D. 6

Answer: D

° Watch Video Solution

10. If two of the zeros of the cubic polynomial

az® + bx? + cx + d are 0 then the third zero


https://dl.doubtnut.com/l/_st2kmb7FUIAG
https://dl.doubtnut.com/l/_asJLuHwdqrmm

Answer: A

o Watch Video Solution

11. What will be the number of zeros of a linear

polynomial p(z) if its graph

(7) passes through the origin.


https://dl.doubtnut.com/l/_asJLuHwdqrmm
https://dl.doubtnut.com/l/_tmVCOmVpDiae

(i7) doesn't intersect or touch z-axis at any

point ?

° Watch Video Solution

12. Find the quadratic polynomial whose zeros

are

(54 24/3) and (5 — 24/3)

° Watch Video Solution



https://dl.doubtnut.com/l/_tmVCOmVpDiae
https://dl.doubtnut.com/l/_gpQ7K54dBd7t

13. If one zero of
p(z) = 4z® — (8k* — 40k)z — 9 is negative

of the other, find values of k.

o Watch Video Solution

14. What should be added to the polynomial
r? — 5z +4 , so that 3 is the zero of the

resulting polynomial? (a) 1 (b) 2 (c) 4(d) 5

o Watch Video Solution



https://dl.doubtnut.com/l/_HQUZI7ocBjJA
https://dl.doubtnut.com/l/_46j5XteyQbz4
https://dl.doubtnut.com/l/_n7lZvztK9zpp

15. How many (i) maximum (éi) minimum
number of zeroes can a quadratic polynomial

have ?

o Watch Video Solution

16. What will be the number of real zeros of

the polynomial z* + 1?

B.O

C.1


https://dl.doubtnut.com/l/_n7lZvztK9zpp
https://dl.doubtnut.com/l/_Ux8QGxR69cTe

D. 2

Answer: B

o Watch Video Solution

17. If @ and B are zeros of polynomial
6z — 7z —3, then form a quadratic

polynomial where zeros are 2a and 23

o Watch Video Solution



https://dl.doubtnut.com/l/_Ux8QGxR69cTe
https://dl.doubtnut.com/l/_lM6DTlvwxaMT

1
18. If a and = are zeros of 4z> — 17z + k — 4

, then find the value of k.

° Watch Video Solution

19. What will be the number of zeros of the
polynomials whose graphs are parallel to (7)y-

axis (i1)x-axis ?

° Watch Video Solution



https://dl.doubtnut.com/l/_raHWSTkKywFP
https://dl.doubtnut.com/l/_Nk38EKOczVwC

20. What will be number of zeros of the
polynomials whose graphs are either touching
or intersecting the axis only at the points :

(1)(3,0), (0,2) & (3,0) (4)(0, 4), (0, 0) and

(Oa o 4)

o Watch Video Solution

Short Answer Type | Question


https://dl.doubtnut.com/l/_Nxq3pUOunNcT

1.11.If -3 is one of the zeroes of the polynomial

(k — 1)z* + kx + 1, find the value of k,

° Watch Video Solution

2. If the product of zeros of az® — 6z — 6 is 4,
find the value of a. Hence find the sum of its

ZEros.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fl7Ew38YkeYY
https://dl.doubtnut.com/l/_CLJVlOJU9WPn

3. 028 The zeroes of x> — kx + 6 are in the

ratio 3:2, find k.

o Watch Video Solution

4. If one zero of the quadratic polynomial
(k2 + k) z? + 68z + 6k is reciprocal of the

other, find k.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z4vjEqsDlPTF
https://dl.doubtnut.com/l/_qBZ1JX6THePI

5. If aandB ar the zeros of the polynomial
f(z) = 2> — bz + k such that a — 8 =1,

find the value of k.

o Watch Video Solution

6. If the sum of squares of zeros of the

polynomial * — 8z + k is 40, find the value of

k.

o Watch Video Solution



https://dl.doubtnut.com/l/_rT7fMyjBF3Z2
https://dl.doubtnut.com/l/_uQ2b9NJBZRgY
https://dl.doubtnut.com/l/_TyUpFgshB3jj

7. If a and B are zeros of the polynomial

t* — t — 4, form a quadratic polynomial whose

1 1
zeros are — and —.

o B

° Watch Video Solution

8. What should be added to the polynomial
x> — 3z% + 62 — 15, so that it is completely

divisibleby x — 3 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_TyUpFgshB3jj
https://dl.doubtnut.com/l/_68AUrKl7ywij
https://dl.doubtnut.com/l/_288MeMtO4ea9

9.If m and n are the zeros of the polynomial

322 + 11z — 4, find the value of = + -,
n m

o Watch Video Solution

10. Find a quadratic polynomial whose zeros

3+ /5 3—4/5

= and s

are

° Watch Video Solution

Short Answer Type li Question


https://dl.doubtnut.com/l/_288MeMtO4ea9
https://dl.doubtnut.com/l/_op7juSO5O9wO

1. If (k+vy) is a factor of each of the
polynomials y* + 2y — 15 and 3° + a, find the

values of k and a.

o Watch Video Solution

2. Find the zeros of polynomial
f(z) = 432> + 52 — 2¢/3; and verify

relation between zeros and its coefficient.

o Watch Video Solution



https://dl.doubtnut.com/l/_8xUIiXKSKTwr
https://dl.doubtnut.com/l/_4rJxpF6gtbki
https://dl.doubtnut.com/l/_ByxiaK7K6L0F

3. If the polynomial
(x4 + 22° + 82* + 122 + 18) is divided by
another polymial (:c2 + 5), the remainder
comes out to be (px + ¢g). Find the values of p

and q.

o Watch Video Solution

4. If —5 is a root of the quadratic equation
22> +pr —15=0 and the quadratic
equation p(m2 + :c) + k = 0 has equal roots,

find the value of k.


https://dl.doubtnut.com/l/_ByxiaK7K6L0F
https://dl.doubtnut.com/l/_JBLexwoiDBRn

° Watch Video Solution

5. Find the wvalue of £k such that
322 + 2kz + x — k — 5 has the sum of zeros

as half of their product.

° Watch Video Solution

6. If & and B are zeros of y* + 5y + m, find

the value of m such that (a + 8)* — af = 24

o Watch Video Solution



https://dl.doubtnut.com/l/_JBLexwoiDBRn
https://dl.doubtnut.com/l/_CLHDYsUf8z9v
https://dl.doubtnut.com/l/_DhHhNLflgDf4

7. If aandf are the zeros of the quadratic
polynomial f(z) =z* —2z —2, find a
polynomial whose zeros are

200 + land2p3 + 1.

° Watch Video Solution

8. Find the values of a and b so that
z? + 2% + 8z +ax+b is divisible by

2 + 1.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_DhHhNLflgDf4
https://dl.doubtnut.com/l/_A2eKEmaXcHBe
https://dl.doubtnut.com/l/_XSh0JH2Jj0tg

9. What must be subtracted from
8r* + 1423 — 222 + 7 — 8 so that the

resulting polynomial is exactly divisible by

4z? + 3z — 2.

° Watch Video Solution

10. What must be added to

f(z) = 4z 4 22 — 22® + = — 1 so that the


https://dl.doubtnut.com/l/_XSh0JH2Jj0tg
https://dl.doubtnut.com/l/_zUdJiwXi3O2n
https://dl.doubtnut.com/l/_56I8Mkfp1lbv

resulting  polynomial is  divisible by

g(z) = 2> 4+ 2z — 3.

° Watch Video Solution

Long Answer Type Question

1. Find all zeros of the polynomial

f(z) = 22° 4+ 2* — 6z — 3, if two of its zeros

are —y/3and /3.

° Watch Video Solution



https://dl.doubtnut.com/l/_56I8Mkfp1lbv
https://dl.doubtnut.com/l/_blZrNgZGOqBu
https://dl.doubtnut.com/l/_JwDFer8h1fJk

2. If V2 is a zero of
p(z) = 62° 4+ /2z° — 10z — 44/2, find the

remaining zeros

o Watch Video Solution

3. If two zeroes of the polynomial
z* — 623 — 262 + 138z — 3bare 24 ./3,

find other zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_JwDFer8h1fJk
https://dl.doubtnut.com/l/_LVdcHjJWtAve
https://dl.doubtnut.com/l/_Y2lxM6ZFfo9Z

4. On dividing the polynomial
x> — b5xz® + 6z —4 by a polynomial g(z),
quotient and remainder are (z — 3) and

( — 3z + 5) respectively. Find g(z)

o Watch Video Solution

5. Obtain all zeros of the polynomial

f(z) = 2z* — 22° — 72® + 3z + 6, if its two

3 3
zeros are —4 /5 an 5

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2lxM6ZFfo9Z
https://dl.doubtnut.com/l/_5n3UlDyvrJzO

6. If the polynomial
z? — 32 — 622 + kx — 16 is exactly divisible

by 2 — 3z + 2, then find the value of k.

o Watch Video Solution

7. If the polynomial
x? — 62° + 162> — 252 + 10 is divided by
another polynomial z?—2zx+k , the
remainder copies out to be z\ + \ a.find k

and a.

| & I


https://dl.doubtnut.com/l/_kIJudM64G9lf
https://dl.doubtnut.com/l/_AgDb8wxEoC64

| ¥ Watch Video Solution |

8. If a and S are the zeroes of the polynomial

z? + 4z + 3 = 0 ,find the polynomial whose

zeroes are 1 + p and 1 + ol

o Watch Video Solution

9. Find K, so that > + 2z + K is a factor of
22 + 3 — 142% + 5z + 6 . Also find all the

zeros of the two polynomials.

I o Watch Video Solution


https://dl.doubtnut.com/l/_AgDb8wxEoC64
https://dl.doubtnut.com/l/_gUfdoaUu0ygH
https://dl.doubtnut.com/l/_Yw9JOgHSTxoC

10. If x —,/5 is a factor of the cubic
polynomial 2° — 3,/52* 4+ 13z — 3,/5, then

find all the zeroes of the polynomial.

o Watch Video Solution

Practice Test

1. If a« and (B are zeros of a quadratic

polynomial p(z), then factorize p(z).



https://dl.doubtnut.com/l/_Yw9JOgHSTxoC
https://dl.doubtnut.com/l/_EcQ783wJo3JM
https://dl.doubtnut.com/l/_6JwizjnA5Eh5

\ ° Watch Video Solution

2.If a and B are zeros of z? — z — 1, find the

1 1
value of — + —

a B

° Watch Video Solution

3. Q. If one zero of the quadratic polynomial
(k — 1)z® + kz + 1is-3, then find the value of

K


https://dl.doubtnut.com/l/_6JwizjnA5Eh5
https://dl.doubtnut.com/l/_XEjabMbLsJNg
https://dl.doubtnut.com/l/_rEol62GKoyLc

Answer:

o Watch Video Solution

4. A quadratic polynomial, whose zeroes are

—3and 4,is

Az?— 1+ 12


https://dl.doubtnut.com/l/_rEol62GKoyLc
https://dl.doubtnut.com/l/_PSDyKXhDCoXo

B.z2 + z + 12

2132 £
C— — = —
> 2"

D. 2z + 2z — 24

Answer: C

o Watch Video Solution

5. If a, B are the zeros of the polynomial
2 — (k+6)z +2(2k—1). Find k if

1
a+ﬂ=§(a'ﬁ)

I o Watch Video Solution


https://dl.doubtnut.com/l/_PSDyKXhDCoXo
https://dl.doubtnut.com/l/_r7WX57wXyIN7

6. Find a quadratic polynomial one of whose

zeros is (3 + \/ﬁ) and the sum of its zeros is 6

o Watch Video Solution

7. If zeros of the polynomial z + 4z + 2a are

a and — then find the value of a.
Q

o Watch Video Solution



https://dl.doubtnut.com/l/_r7WX57wXyIN7
https://dl.doubtnut.com/l/_ibvP62egh8By
https://dl.doubtnut.com/l/_wuOzQgOJLJqy

8. Find values of a and b if (:c2 + 1) is a factor

of the polynomial x? + 23 + 822 +ax + b

° Watch Video Solution

9. If truth and lie are zeros of the polynomial
pr® +qxr + 7, (p#0) and those zeros are
reciprocal to each other, Find the relation

between p and 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_77XKE6wEVe15
https://dl.doubtnut.com/l/_E3ZB7m63Jex4
https://dl.doubtnut.com/l/_CpYt6SGtJ3vN

10. On dividing the polynomial
x> + 22> + kxr +7 by (z—3), remainder
comes out to be 25 . Find quotient and the
value of k. Also find the sum and product of

zeros of the quotient so obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_CpYt6SGtJ3vN

